Week 1 Recitation Problems
Math 114-004—307/308
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1. Graph (shading) the region bounded by the following three curves (in the first quadrant):
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2. (i) Write one (or two) x-integral(s) giving the exact area of thls reglon and (ii) compute
explicitly this area.
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3. Now (i) write one (or two) y-integral(s) for the area of tlm reg,lon dlld 11) Lompute explicitly !'E?“'

Ay- it . Since Hure are dwo different J—o,as i
: bre,sk -rtu. mhﬁmL m+o preces! | kS

f@?(g) (y-ax:n)dlz, f (9ty) - (y- ax:s))daa.

-
-PCX)va-bg-xa-le gl—x - Xz ’l/yl
i) q2y Lty -2x > x4y x»-—-sxz

. b .‘l,’.“ S |
IW -1 -, dD f@/z g/z O)alg, = _ﬂ_‘_'),] | g .g__] 30

‘ e

4" K
i . b R 3/2 j 21
. } = - S, - q
- : A 7/z. 3/2,_) (z( T (5) )

Scanned with CamScanner



Sanity checks:

(1) Are your results in 2. and 3. the same?

(2) Can you find a way (or ways) to approximate the area without using calculus?

(3) Compare your approximation to the actual value you got for the area in (b)
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